Year 2 - Maths Day 4 Subtraction 					           Thursday 21.5.2020  
This is the most challenging work we found this academic year so take you time. Remember to use resources, scrap paper, etc to help you. This video may help you: https://www.youtube.com/watch?v=Fj-EwB0JX6Y. The questions get harder as you go down so try your best and do the ones you can. Mr Hirani.
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8a. Complete the column subfraction
then show the exchange on the grid.
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8b. Complete the column subfraction
then show the exchange on the grid.
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9a. Work out the answer for the following
calculation:

9b. Work out the answer for the following
calculation:
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10a. A teacher had seventy-two pencils,
but lost 37. How many has she got now?
Complete the part whole model.
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10b. A gardener grew sixty-four flowers,
but cut 49. How many are still growing?
Complete the part whole model.
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12a. Complete the column subfraction for
the given calculation.

12b. Complete the column subtraction for
the given calculation.

([ sixty-two —forty-eight = |
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1a. Work out the answer for the following | 1b. Work out the answer for the following

calculation: 86 - 38 = : calculation: 25 - 16 = @
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2a. A child had 53 marbles but lost 27. 2b. A shop had 34 cakes but sold 19. How
How many has he got now? many are left in the shop?
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7a. True or false?
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7b. True or false?
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